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YO MORIR

YO DORMIR

YO SEGUIR

YO MORIRSE

USTED PEDIR

YO COMPETIR

USTED SERVIR

TU VESTIRSE

USTEDES PEDIR
USTED COMPETIR
USTEDES SEGUIR
NOSOTROS SERVIR
USTEDES COMPETIR
NOSOTROS VESTIRSE

OwC=Z=x1x 0O UOTIXMmMmmTM™>ID—0WAMmMm=—wm

ONOST——0OLMOC—-—-XZ0W0NWUOAHAZO—X

moowmwumiIa< - 0nmnI<KCONW-——=<CIZKL
OoOnm< —unn4H4—-—0I VWUV -—-—<TnnC-— 110 —

CSmzZO0XmM—-—IOVCZOIUVTIVTO>X>»—mMOW
— T ITMTMMU-—-MOTOOMSE —=Z 1 O A
U T —U0UO—MmMDBVDOZIVZIUOUOZITTO UODOMM
mmeon W <mMmmoO—2>»mMmTV-—-—CZ2Z —
4 mzZzZO0omMmoOoOw-4d4d< nZ24d4dunomau< —0

YO PEDIR

TU MORIR

TU SERVIR

YO PREFERIR

YO VESTIRSE

TU MORIRSE

USTED SEGUIR

TU COMPETIR
USTEDES MORIR
NOSOTROS PEDIR
USTED VESTIRSE
VOSOTROS SERVIR
NOSOTROS MORIRSE
VOSOTROS COMPETIR
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TU PEDIR

YO SERVIR

TU DORMIR

USTED MORIR

YO DORMIRSE

TU PREFERIR

USTED DORMIR
USTED MORIRSE
USTED PREFERIR
NOSOTROS MORIR
USTEDES MORIRSE
NOSOTROS SEGUIR
NOSOTROS DORMIRSE
VOSOTROS PREFERIR
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